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E7/ (REA > o 4DR) XFAERRRL< 15 7,000
7/ (v=/CFIll) XFAEEHR < 15 5,000
FE (BEY) 1% 200
BES = 200
Eme (EEER) = 200
EEHS = 100
B2 R AR 1= 3,000
s (kL ZEHZEE) 1% 5,000
®RE S 1,000
EHA 1% 200
REGH - S EREAE 1% 100
2F—=Y<v b (NLZAHY— ) 1% 200
et 1% 200
EE = 1,000
ARER B 200
Ml = 100
BF 1R 50
FBANY 11@ 100
AHEE (R—K—74 +ED) 1= 2,000
YAy a4k 151] 1,000
Ty N—=RUY Y T Ak 1= 1,000
A7—HRUY Y hZ4F 1 1,000
FE R FRIREA 1= 2,000
A= N N 154 1,200
Lt R—EVRRy FTA b =) 1,200
2Ry b7 4~ (500w) B 200
HhyZR—EVYRRy h 4+~ (V=R T #—) a 300
SVTNTA L (=FA4F) = 300
IV bhwry = 2,000
FERABEE (KA FIv A 02KRVPRE—H—(F&) 1 3,000
AvFoH—<A47 (REY F{FE) 1A 1,100
RKAFIvo<A40 (REY FFE) 1R 1,000
TAYLATA VEE 1K 1,500
FBRE—H— (E=Z4&—RE—H—) = 1,000
PRE SRR X = 1,000
XA LT bRy IR 11@ 500
Er4+7myzsi— a 2,000
FFARBEOFERICHRZIYEY b Tkw 200
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